AX(BXC)=(CxBYxA=B(A-C)-C(A-B)

V(uv) =uVv+vVu

VIA-BY=AX(VXB)+(A-V)B+ Bx(VxA)+(B-V)A
VouA=uV-A+A-Vu

V- (AxB)=B-VXA-A-VXB
Vx(uA)=uVxA-AxVu
Vx({(AxB)=(B-VA+A(V-B)—(A-V)B-B(V:A)
(V-A)B=(A-V)B+ B(V-A)

T BTy B(vExv)

a{bXc)=c-@xb)="b(cxa). V%’Qv’“ig) o »
axbxc)=f@ cb- @ bc. /(L/,l/&b
axb) Exd=fa g0 d- @ Ob 0. Ly
Vifg)=f ¥ +2 ¥ or, equivalently, grad (fg) =fgrad g+ g grad f :fizia,gg,?
ViE ¥W=F V¥+ (¥ 97 +7X (VX ¥ + ¥X(¥X¥) vy
V- f¥)=f ¥V ¥+ ¥ ¥ or, equivalently, div(fv)=fdivv+gradf.v i J# &
VXV =1{¥xXv+¥IX¥ or, equivalently, curl(fv) =fcurl v+ grad f X v fﬁ?’ i‘
¥V FEXW =% (VX9 -7 (VX¥) ax Iy 92
FXFEXW =% (¥ ¥ -%¥ (¥ 9+(w Viv-F V¥ 7rz'tf7=’97;é‘
T

Green's identities:

. Lﬁzg d“x=LQf nyg d“x—L?f-?g ax
7. Inﬁzg—g‘i'zf a"x =.L.—;f n¥g-g n¥r 8%'x

Gauss's divergence theorem:
[7F a*x=]_Fnax
Stokes's theorem:

L?xF-n a“x=Lme



